 What do you know abous




%

Solve The following ratio problem: A recipe
calls for 2 cups of flour for every 3 cups of

sugar. If you have 6 cups of sugar, how
many cups of flour do you need?




%

Solve the following ratio
problem: A recipe cadlls

4 cups
ol flour

for 2 cups of flour for
every 3 cups of sugar. If
you have 6 cups of
sugar, how many cups of
flour do you need?




:

Consider this table
of equivdadlent

ratios and find the
missing values.

Quantity A

Quantity B

4

S




:

Consider this
table of
equivalent ratios
and find the
missing values.

Quantity | Quantity
B

18
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Marissa movws lawvns at a constant
rate. It takes her 3 hours To mow S

lawns. Howv many lawvns can she
moWw in 8 hours? &

\

L]

' @ o

=




Marissa mows lawns
at a constant rate. It
takes her 3 hours fo
moWw 5 lawvns. Howv
many lawvns can she
mow in 8 hours?

13
lawns

18 1/3 lawvns




&,

Suppose you are traveling at a
constant speed of 60 miles per

hour. How long ill It take you To
travel 180 miles?

O O




&,

Suppose you are
traveling at a constant

speed of 60 miles per
hour. How long will it
take you to travel 180
miles?

I
nours




&

A car travels 280 miles In 5 hours.

What Is the car's average speed
in miles per hour?




20

miles per
hour

&

A car travels 280
miles In 5 hours. What
Is the car's average
speed In miles per
hour?




S

A shirt originally costs $40. It is on

sdle at a 257 discount. Cadlculate
The sale price of The shirt.




A shirt originally costs
$40. 1t is on sale at a
257 discount.
Calculate the sale
price of the shirt.

e
-



4

You wvant to leave a 207 tipon a

restaurant bill That amounts to
$75. Howv much should you leave
as a tip?




4

You vant to leave a
207 tipon a
restaurant bill that
amounts to $75. How
much should you
leave as a tip?

p—
I



-
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&

Lisa is planning a trip to Europe and heeds to
convert her fravel budget from US dollars

to Euros. If she has $500, and the current
exchange rate is 1US dollar = 0.85 Euros, how
much will Lisa's budget be in Euros?




\ 4
&

Lisa is planning a trip to Europe
and heeds to convert her
travel budget from US dollars
to Euros. If she has $500, and
the current exchange rateis 1
US dollar = 0.85 Euros, how
much will Lisa's budget be Iin
Euros?

129

GCUros




&

A map has a scale of 1iInch represents
10 miles. If Two cities are 4.5 inches

apart on the map, vhat is the actual
distance between the cities in miles?

Y




&

A map has a scale of 1
iInch represents 10 miles. If

two cities are 4.5 inches
apart on the map, wvhat is
the actual distance
between the cities In
miles?




LY

The ratio of red marbles 1o blue
marbles in a jar is 3:5. If there are 60

blue marbles, how many red marbles
are in the jar?




LY

The ratio of red marbles
to blue marbles in a jar is

3:5. If There are 60 blue
marbles, howv many red
marbles are in the jar?

30

red
marbles




How did you do?¢ ' t

>’E




